South Ayrshire Council

Transfers Report

This report contains the transfers results.

Contest Name

Ward 5 - Ayr West

Valid Votes
Positions to be Filled
Quota

8,369 4 1,674

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Gordon Hawley BRYCE	Scottish Family Party Pro-Family, Pro-Marriage, Pro-Life	108
Martin DOWEY	Scottish Conservative and Unionist	2,271
John DUNCAN	Scottish Labour Party	915
Lee LYONS	Scottish Conservative and Unionist	699
Derek McCABE	Scottish Conservative and Unionist	341
Jamie ROSS	Scottish Liberal Democrats	295
Bob SHIELDS	Independent	1,909
GEORGE WEIR	Scottish National Party (SNP)	1,217
MARGARET WEIR	Scottish National Party (SNP)	614
	Total	8,369

Candidate Martin DOWEY Elected with 2,271 votes, being in excess of the quota of 1,674 Candidate Bob SHIELDS Elected with 1,909 votes, being in excess of the quota of 1,674

This report contains the transfers results.

Stage 2 - Surplus of Martin DOWEY

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon Hawley BRYCE	12	0.26287	3.15444
Transfer to John DUNCAN	60	0.26287	15.77220
Transfer to Lee LYONS	1,577	0.26287	414.54599
Transfer to Derek McCABE	474	0.26287	124.60038
Transfer to Jamie ROSS	40	0.26287	10.51480
Transfer to GEORGE WEIR	7	0.26287	1.84009
No further preference	98	0.26287	25.76126
Not transferred due to rounding			0.02223
	Total		597.00000

This report contains the transfers results.

Stage 3 - Surplus of Bob SHIELDS

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gordon Hawley BRYCE	59	0.12310	7.26290
Transfer to John DUNCAN	249	0.12310	30.65190
Transfer to Lee LYONS	413	0.12310	50.84030
Transfer to Derek McCABE	305	0.12310	37.54550
Transfer to Jamie ROSS	291	0.12310	35.82210
Transfer to GEORGE WEIR	152	0.12310	18.71120
Transfer to MARGARET WEIR	76	0.12310	9.35560
No further preference	364	0.12310	44.80840
Not transferred due to rounding			0.00210
	Total		235.00000

This report contains the transfers results.

Stage 4 - Exclusion of Gordon Hawley BRYCE

118.41734

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DUNCAN	19	1.00000	19.00000
Transfer to Lee LYONS	32	1.00000	32.00000
Transfer to Derek McCABE	11	1.00000	11.00000
Transfer to Jamie ROSS	7	1.00000	7.00000
Transfer to GEORGE WEIR	15	1.00000	15.00000
Transfer to MARGARET WEIR	4	1.00000	4.00000
Transfer to Lee LYONS	6	0.26287	1.57722
Transfer to Derek McCABE	1	0.26287	0.26287
Transfer to Jamie ROSS	1	0.26287	0.26287
Transfer to John DUNCAN	9	0.12310	1.10790
Transfer to Lee LYONS	15	0.12310	1.84650
Transfer to Derek McCABE	7	0.12310	0.86170
Transfer to Jamie ROSS	8	0.12310	0.98480
Transfer to GEORGE WEIR	1	0.12310	0.12310
No further preference	20	1.00000	20.00000
No further preference	4	0.26287	1.05148
No further preference	19	0.12310	2.33890
Not transferred due to rounding			0.00000
	Total		118.41734

Report Name: Transfers_V0001_Ward-5---Ayr-West_06052022_142609.pdf Created: 06-5-2022 14:26:09

This report contains the transfers results.

Stage 5 - Exclusion of Jamie ROSS

349.58457

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DUNCAN	123	1.00000	123.00000
Transfer to Lee LYONS	31	1.00000	31.00000
Transfer to Derek McCABE	26	1.00000	26.00000
Transfer to GEORGE WEIR	20	1.00000	20.00000
Transfer to MARGARET WEIR	23	1.00000	23.00000
Transfer to John DUNCAN	4	0.26287	1.05148
Transfer to Lee LYONS	7	0.26287	1.84009
Transfer to Derek McCABE	14	0.26287	3.68018
Transfer to GEORGE WEIR	3	0.26287	0.78861
Transfer to John DUNCAN	96	0.12310	11.81760
Transfer to Lee LYONS	24	0.12310	2.95440
Transfer to Derek McCABE	31	0.12310	3.81610
Transfer to GEORGE WEIR	20	0.12310	2.46200
Transfer to MARGARET WEIR	22	0.12310	2.70820
No further preference	79	1.00000	79.00000
No further preference	13	0.26287	3.41731
No further preference	106	0.12310	13.04860
Not transferred due to rounding			0.00000
	Total		349.58457

Report Name: Transfers_V0001_Ward-5---Ayr-West_06052022_142609.pdf Created: 06-5-2022 14:26:09

This report contains the transfers results.

Stage 6 - Exclusion of Derek McCABE

<u> </u>			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DUNCAN	18	1.00000	18.00000
Transfer to Lee LYONS	286	1.00000	286.00000
Transfer to GEORGE WEIR	5	1.00000	5.00000
Transfer to MARGARET WEIR	1	1.00000	1.00000
Transfer to John DUNCAN	13	0.26287	3.41731
Transfer to Lee LYONS	386	0.26287	101.46782
Transfer to GEORGE WEIR	5	0.26287	1.31435
Transfer to John DUNCAN	14	0.12310	1.72340
Transfer to Lee LYONS	188	0.12310	23.14280
Transfer to GEORGE WEIR	3	0.12310	0.36930
Transfer to MARGARET WEIR	3	0.12310	0.36930
No further preference	68	1.00000	68.00000
No further preference	85	0.26287	22.34395
No further preference	135	0.12310	16.61850
Not transferred due to rounding			0.00000
	Total		548.76673

This report contains the transfers results.

Stage 7 - Exclusion of MARGARET WEIR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DUNCAN	24	1.00000	24.00000
Transfer to Lee LYONS	3	1.00000	3.00000
Transfer to GEORGE WEIR	580	1.00000	580.00000
Transfer to GEORGE WEIR	1	0.26287	0.26287
Transfer to John DUNCAN	6	0.12310	0.73860
Transfer to Lee LYONS	3	0.12310	0.36930
Transfer to GEORGE WEIR	66	0.12310	8.12460
No further preference	35	1.00000	35.00000
No further preference	2	0.26287	0.52574
No further preference	26	0.12310	3.20060
Not transferred due to rounding			0.00000
	Total		655.22171

This report contains the transfers results.

Stage 8 - Surplus of GEORGE WEIR

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to John DUNCAN	772	0.10528	81.27616
Transfer to Lee LYONS	30	0.10528	3.15840
Transfer to John DUNCAN	4	0.02767	0.11068
Transfer to Lee LYONS	3	0.02767	0.08301
Transfer to John DUNCAN	78	0.01296	1.01088
Transfer to Lee LYONS	10	0.01296	0.12960
No further preference	1,035	0.10528	108.96480
No further preference	9	0.02767	0.24903
No further preference	154	0.01296	1.99584
Not transferred due to rounding			0.01772
	Total		196.99612

This report contains the transfers results.

Stage 9 - Exclusion of John DUNCAN

1,247.67811

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Lee LYONS	192	1.00000	192.00000
Transfer to Lee LYONS	37	0.26287	9.72619
Transfer to Lee LYONS	68	0.12310	8.37080
Transfer to Lee LYONS	290	0.10528	30.53120
Transfer to Lee LYONS	3	0.02767	0.08301
Transfer to Lee LYONS	25	0.01296	0.32400
No further preference	907	1.00000	907.00000
No further preference	40	0.26287	10.51480
No further preference	306	0.12310	37.66860
No further preference	482	0.10528	50.74496
No further preference	1	0.02767	0.02767
No further preference	53	0.01296	0.68688
Not transferred due to rounding			0.00000
		·	1 0 1 = 0 = 0 1 1